N = 0 &8 AFH Y & A AN
20199 & 20l & LESH A X
SA LS
HM: Las 29
el S AR (S &2)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
o= 350,550 349,677 873
LoaEs 2Y9 312,905 311,982 923
S otE A A 312,905 311,982 923
AL FOSJALY 60,400 90,000 N 29,600
401 Al HI L £ 0HHI 60,400 90,000 AN 29,600
01 A& HI 60,400 90,000 N 29,600
OARLE FOU=IAAMNY 50,000
ONOHE 2m MEEEX AL (FOHERAY) 10,400
ScletE 29 55,980 55,980 0
301 dEtEAZ 55,980 55,980 0
0B SHE-0H -EHEESEMN= 55,980 55,980 0
OPIE—E3=] 200,000& x16H x12& 38,400
oan 2 200,000& 16 *200% 6,400
O3 ol&Ag 20,000 *16H x 128 x23] 7,680
Obt& 4 25,000 *70H *23] 3,500
A S ALK& 18,940 13,940 5,000
201 L2 Y| 15,000 10,000 5,000
03 & AtE L 15,000 5,000 10,000
O3z AASYI| A 5,000
OAN2HEUS 10,000
301 dEtE A= 3,940 3,940 0
09 HAIAH EA=S 2,940 2,940 0
OLQCHOEE U3 500
OFE&H 1,000
OJIEFEH AL 800
O0H(BER) Mstia 40,000& *16H 640
12 JIEtE &2 1,000 1,000 0
Os%= XA 1,000
LUsS HARLZ 132,453 129,770 2,683
101 @1 21| 8,873 9,300 N427
04 JI2ZtHI22 NS E 8,873 9,300 NA427
OF8 T=H Ji234| 68,900& *10H x93] 6,201
2YT FSHH L HMEY
66,800& *10H x43] 2,672
201 Bt A H| 40,080 75,620 AN 35,540
01 AFR2 2t 2l Yl 21,580 57,120 AN 35,540
osss7dits 1,500
Ogt2H| 13,200
OZ 2| 1,680
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SA LS
HM: Las 29
el S AR (S &2)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
OF AR AH| 100,000& 10 A x12& 1,200
Ootd S X &el EHEXZ 4,000
02 3524l 18,500 18,500 0
O332=2 2 HA 8,000
OA & &Hl S XY 2,000
(@)sK=3] 4,000
OxEtE29H| 4,000
ONOIEESZE HEHl XN (ZFLHMERAA) 500
401 Al HI YL 2 0HHI 35,000 30,000 5,000
01 A& HI 35,000 30,000 5,000
Os&EA HIEY ZHl Y T I AL 8,000
O ZS(LED) WM Z A 7,000
OHTSIHE A=52 WAESsEI 89 20,000
405 XtabF SHI 48,500 13,350 35,150
01 AL 2 EF SHI 48,500 13,350 35,150
Os 23Xy 7Y 25,000
Ozl a &xt ¢ 500, 000& *9H 4,500
Ozloa ot ¢ 200,000& *204 4,000
OXXIAE S OtDL2I It ¢ 3,000,000& x2H 6,000
OXXIAHY HT 22 1,000,000& *1H 1,000
OXXIALEE AT 2 1,000, 000& *x2H 2,000
OXXIAHE e ID] 2UH ¢
3,000,000& = 1H 3,000
OXXA Y s&H 2 3,000,000 *1H 3,000
A8 ua 29| 8,262 12,292 A 4,030
301 YerE A 8,262 12,292 £4,030
04 A2 EUHALBIXA 8,262 12,292 A 4,030
OXS2HUHIA oFaldl| 4,000 x2% »365 2,920
ogd g 29| 3,000
O=2gH| 500
O&Il= 6,000& x 122 x304 & 216
O9HZ bl 392,000& *3H A 1,176
O=x=azel KX 150,000& *304 A 450
XXIALE S 29 36,870 0 36,870
201 Yere | 35,620 0 35,620
01 AP 2t 2l Yl 34,620 0 34,620
OXXIA S 249h| 30,420
OFUXNXHEH 234 4,200
03 AL L I 1,000 0 1,000
ORXIAHE 2HF 1,000
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